2
1:
T=AeBt+C
T =
t = ( )
A =
B =
C = ( °C)
2:
T=A=Bl+C
T = A=Bt STAT CALC
1
CBL
(6 10

Tl
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HEAT

Note : 36
L3 La 2
1 1 36
2 60 1 36
1
© CBL
(2] CBL 1(CH1)
(3]
O CBL
CBL

1:
No. 1
Q@ CBL HEAT
HOW MUCH TIME... 5
5 1 3
36
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No. 2

© CBL
HOW MUCH TIME...

36

Note : (
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ENTER

ENTER

60

ENTER

HEAT

CBL

ENTER
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22 CBL

Note :

CBL System Compatible

Calculators “Performing Data Analysis ( )7
(y )
(x ) LIKE (23
° Lol
10<y<90(°C) 10<x<180( ) [LEFiL,
10<y<90(°C) 120<x<2160( )
1.
y=0
24°C
L4 L3
STAT EDIT
Ls CLEAR
Ls L4 24
La 24
Ls Lz Ls
2. a) b (Ls Ls) 2
a) STAT CALC  ExpReg ( ) ExpReg L3 Ls
y = 45.28 * 0.994257%
24°C
T = 45.28 * 0.994257+24 //”‘
STAT PLOT L3 el
Ls  STAT PLOT L3
La T Y=
STAT PLOT
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b) (Ls Ls)

T = 44.996¢ 0.0057073t +24

Y= L3 La STATPLOT
3. No.1 ( )
a)
1°C
1:
662 ( 11 )
T = 45.28 + 0.994257%+24
25 =  45.28 % 0.994257%+24
1 = 45.28 % 0.994257t
0.022084 = 0.994257t
662 = t( )
2:
11
T = 44.996e 0.0057073t+24
25 = 44.996e 0.0057073t+24
1 = 44.996e 0.0057073t
0.0222242 = g 0.0057073t
667 = t( )
b) 40°C
c) (°cr/ )
0.5743% ( 99.4257%
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4, No.2 2 2

1 87°C
20°C 2 41°C
a 1
T = 66.8e 0.0277923t1 20
b) 2
T = 20.377e 0.0277923t4
2 A 2
(87°C  41°C) A
A
(4a  4b) 20 0.027793
1.
2. 2
HEAT
5
1
36
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